QUESTIONS: Lecture 6
Name your file Exe-6-Familyname; Return by noon tomorrow into MyCourses drop-box
1. Among the following elements, select two, for which disproportionation reaction is not possible: K, Mn, Fe, Cu, Br, Cl, F, O. Explain why!
2. Below is the Latimer diagram for chromium in acidic conditions. Draw the corresponding Frost diagram (with some explanations), and answer to the following questions:

- What is the most stable oxidation state?

- For which oxidation states disproportionation tends to occur ?

[image: image1.jpg]095V -0.74V

| 055V 134V l 21V ‘ -0424V  -090V
Cr(VI) — Cr(V) — Cr(IV) — Cr(Illl) — Cr(Il) — Cr(0)

1.2V

138V





PAGE  

